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Input

111µn,m, S(1 ≤ n ≤ 50, 0 ≤ m ≤ 10, 0 ≤ S ≤ 10000)
121µU1, U2, · · · , Ui, · · · , Un(0 ≤ Ui ≤ 10000)
131µd1, d2, · · · , di, · · · , dn(0 ≤ di ≤ 100)

Output
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SampleInput

3 1 1000
2 4 8
1 2 4

SampleOutput

34

Hint

Source

Day1
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#include <iostream >

#include <cstdio >

#include <cctype >

#include <cmath >

#include <algorithm >

#define MAXN 60

#define INF 100000000

using namespace std;

int readint ()

{

int ans=0;

char c;

while (! isdigit(c=getchar ()));

do

{

ans=ans *10+c-’0’;

c=getchar ();

} while (isdigit(c));

return ans;

}

int n,m,S;

int s,t;

int ans;

struct Node

{

int pre ,dis ,delta;

Node(int p=0,int d=0,int x=0):pre(p),dis(d),delta(

x){}

};

struct Edge

{

int flow ,cap ,fee;

2



Edge(int f=0,int c=0,int fee =0):flow(f),cap(c),fee

(fee){}

};

Node argpath[MAXN];

Edge graph[MAXN][MAXN];

bool find()

{

for (int i=1;i<=t;i++)

argpath[i]=Node(0,INF ,INF);

argpath[s]=Node(0,0,INF);

bool quit;

do

{

quit=true;

for (int i=1;i<=t;i++)

if (argpath[i].dis <INF)

for (int j=1;j<=t;j++)

if (graph[i][j].flow <graph[i][j].

cap)

if (argpath[i].dis+graph[i][j

].fee <argpath[j].dis)

{

argpath[j].dis=argpath[i].

dis+graph[i][j].fee;

argpath[j].pre=i;

argpath[j]= Node(i,argpath

[i].dis+graph[i][j].fee

,min(argpath[i].delta ,

graph[i][j].cap -graph[i

][j].flow));

quit=false;

}

} while (!quit);

return (argpath[t].dis <INF);

}

void change ()

{

int i=t;

while (i!=s)

{

int j=argpath[i].pre;

graph[j][i].flow+= argpath[t].delta;

graph[i][j].flow=-graph[j][i].flow;

i=j;

}

ans+= argpath[t].dis*argpath[t]. delta;
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}

int main()

{

n=readint ();

m=readint ();

S=readint ();

s=n+1,t=n+2;

for (int i=1;i<n;i++)

{

graph[i][i+1]= Edge(0,S,m);

graph[i+1][i]=Edge(0,0,-m);

}

for (int i=1;i<=n;i++)

{

int u=readint ();

graph[i][t]=Edge(0,u,0);

graph[t][i]=Edge (0,0,0);

}

for (int i=1;i<=n;i++)

{

int d=readint ();

graph[s][i]=Edge(0,INF ,d);

graph[i][s]=Edge(0,0,-d);

}

ans =0;

while (find())

change ();

cout <<ans <<endl;

return 0;

}
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